Math 346 Quiz 1
February 6, 2018

Name: ANS \/\J GIQS

Instructions: No calculators! Answer all problems in the space provided!

1. Definea “function” from aset A to a set B: A vole Lot o 5S19n S b ecth elevennt n A
-QXMHj ove &le~ent 1n R.

2. Define the “range” of the function above: [t Se ouf 2lorants 1 I Mcge, 08519 eof.
(0@ Mo set ol ell yeR, sul bt §(9=Y for some xeA).

3. Let [P, be the set of all polynomials with real number coefficients of degree n or less.
Consider the function (really “transformation”) f: IP; — IP5 defined by f(p(x)) = %p(x) where p(x) € P5.

(a) Is f one-to-one? NO (b) Is f onto? N O

4. Suppose in problem 3, we had f: P; - P,.

(@) Is f one-to-one? N O (b) Is f onto? Y({S
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6. (2 points) Prove or disprove: If n € Z, then n? + n is even. (To disprove, give a counter-example—an

example that does not fit.) (,\ANn& way s to do s ! e/l do o).
P{:’lec axe fuoe cases, Eifler (D) N 1S eveln o¢ @) n s oc(O(
casel: [fn=2K, KT, len n¥n = @) +@k) = 2 (k1) ohickis
2(2(513 k),
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Cose 23 |Ln=2kr! ked, Bom e = (2kH)+CGK

whida ts even-

= 1 all cases, n*Hh (s even. 7

Bonus:
1. Giventhat4 = (_11 g)B = (g)C = (}} %), compute the following:
-1 o | -2 )
(@) —24= 1 2 -4 (b)34—-2C = _“ll = 3 (c) B+C = UV\O(-Q. 9\&(/(

2
(d) AB = <4> (e) BC = UwO(e,f\NO(




